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_____________________________________________________________________ Class: o,
Solve one-step equations with whole numbers )
Find the value of the variables in the following expressions below and choose
the most correct answer.
1. g+200=579, g=2 [Jig 0 99 0 z77 0O z70
2. 3t=15. t=7? Os 0O 45 0O ss 0O 4
3. n+701=955 n=2 [Jos5 0O 7o 0 -254 0 254
4, w+27=39. w=2 [ 2 0O 0 36 0Oz
5. t |5 t=2? 06 O O s O
6. a+44=79. a=2? [J35 O 3 0O 35 0 36
7 x=(9)(2). x=? 0> O O s O 2
8 g L 3. p=2? oY O s O 255 O ss
9. 10v=90. v=? Os Oo O O
10. g-16=10. g=? 0O 25 O oq a - O -
M. Kk=159+3. k=7 0O 0O: 0O Os
12. 705=15k. k=? 0.4 0 0. O 47
13. zb- L 27.b=2 | Oeso 0O 7229 0 ss0 0 29
J
4. p-(¢-8)=4, p=2 [Jas 04 0O s 0.4
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